Day 46_ Surface are continued.notebook November 14, 2017

Curriculum Outcome

(N5) Determine the square root of positive
rational numbers that are perfect squares.

(N6) Determine an approximate square root of
positive rational numbers that are non-perfect
squares.

(5S2) Determine the surface area of composite
3-D objects to solve problems

(N4) **Explain and apply the order of
operations, including exponents, with and without
technology.**
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Gra e 9

Calculate the total surface area of the
following: (Show all work)
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Cubes

Number of Faces: 6
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Find the Surface Area of the Connected Cubes
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Method 1 (Think Individually about each shape)

4 cubes connected
* each have 6 faces  FIND THE AREA OF EACH FACE

4 X 6 faces = 24 faces

Hace = A=b x h
A=1cmx1cm
A=1cnv
24 A= 24 cny’

BUT

WHAT HAPPENS WHEN YOU JOIN FACES?
Do you have to count where they join in "surface area"? NO

syt have overlaps

With every connected cube 2 faces disappear

3 overlaps so 6 faces disapear

Total surface area = 24 cn?-6cm
= 18cm?
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Determine the surface area of the composite object.

What effect does the overlap have on the calculation of the
surface area?

*count bottom

len

[
Jom .amL

10 cm

20 cm

STEP 1: You can calculate all of the surf: larger
rectangular prism
gular p 20 , 6,10

[ Joem [Joen [oJoem
O

20 cm cm 20cm
ﬁ:b\/\\m A —h x\[\ 0= oy
A = 26K 1 fo= X1 A= 2ox(,
ﬂ7 QOOCM; [A—— ) C/W\1 A= (QQCNQ
2R = Y400 cn° 28 = [[20 om? = LYo cm

TS\AB\%: L(QQ 1 \10 - 1%—0
— L0 op>

Step 2: Then calculate all of the syrface areas of the smaller rectangular

prisms

4cm

3cm

P\oxn
A = 3%y

T Withowt over lap = X4 +6 = 30

Sl
Step 3: Is there an overlap? SO must subtract the "overlapped Areas"
recall overlap involves "two faces" subtract 2 x (overlap area)

Plways the Faces on wour

Sm A\l Shape thak  Loudnes
th~ k?%“s.u' sh&.fb

_r;n = _Elg + Small (withok ol)
= ALo + 30

— 390 e

November 14, 2017



Day 46_ Surface are continued.notebook November 14, 2017

page 30 & 31

questions
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